1- constancy test:
Using the exponential decay expression to calculate the predicted value:
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	source
	Initial activity A0

At (1-5-2003)
	Predicted at 19-11-2006

After (3.54 y)
	Measured
	Percentage difference =
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	Ba-133(10.74y)
	263.1uci
	209uci
	211uci
	≈1%

	Cs-137(30y)
	194.6 uci
	179.3 uci
	176uci
	1.8%

	Co-57(270.9d or 0.74 y)
	5330uci
	193.6 uci
	189 uci
	2.3%


	using Cs-137 in all of these channels 

	channel
	activity uci
	predicted uci
	percentage difference %

	Cs-137
	176.00
	179.30
	1.84

	co-57
	296.00
	299.90
	1.30

	I-131
	225.00
	227.86
	1.26

	In-111
	128.50
	130.18
	1.29

	Ga-67
	305.00
	309.50
	1.45

	Xe-133
	191.80
	194.20
	1.24

	I-123
	130.40
	132.00
	1.21

	Tl-201
	190.10
	193.20
	1.60

	Mo-99
	1815.00
	1846.00
	1.68

	Tc-99m
	335.00
	342.27
	2.12


	requirements
	Daily checked

	Limits (10%)
	All measurements are within the limits

	Test passed/failed
	passed
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